EARAROBEEIERT — 2 N— IBISH —F

2012568230 (+) 6EAE1H

IGBC2—8# C2 45%4mL B R
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o BEmth :31. -1-1- . — FEBF (£8)
1 4 THIHT Ty b 4 4 = 1(:2)4 1-1-1-1 | 39.8 1 :733) A "
R:Tv TRy b By —FTI v ® #5
. sy W& :32. 55— . - AR—X (£8)
5 olEAUILT I B4 e 1(362)6 5-5-5-5 | 40.0 2 a:g;) s B’
R:FTY—b BieHUTT oI55
# o4 | WTHE 1:32.7 6-6-6-6 |39.3| — | 3 | 452 |WEE (£H)
] 2 B LA XA ¥¢55.0 (1/2) +3) THiE
L:¥r/0704 B:FrLrIeqAIr A NRES
SR iim}2 : -0 — BARBE (&8
N NEEESEe) 4 | LB (17.3;% 2-2-2-3 | 40.9 6 &7} o,
L:FLI /Y2 B:T743NRTIL-X HET7— L
R R BER— 132, -3-3- . — IHAZEA (1£8)
slzlgl Ty =777 o4 e 1(13/22>8 3-3-3-2 | 40.8 5 (5&4) L 7
LTI RXTZ74 8 B:xFa—F KBRS
= 7 | FAHIK 1:32. 4-4-4-4 | 40. — 4 4 REEREE (£8)
61111 77T 1R i 515.0 (13/2)9 06 (_828) %tﬁﬂi -
R:TTRAT—IE BNLFzXaA0=— BEZXZ2Y K
SR 5 | &%k 1:33. —7-7- . — THERE (EE
71717 | XV HTRFHA * 2520 (33)5 ) 399 8 ff) 71(#?51;%,5“ .
RivAZNTY BiFvILH NEHS
S i 5 S 1:33.5 9-8-8-8 [39.7| — 7 476 | WIFFHE (EH)
EH 3| b/ — 54.0 (742%) (-) | LA
L:TANKTy Y BYyv/U— NS
- = SRR :36. —-0-9- . — AB®Y (58)
olsls| TRTAVIL YL 4 6 Esan (;is*f) 8-9-9-9 | 42.8 8 (4_358) ity H
R:vO7%x BiAALILAN— J—HTr—L
= Y BEEIFE = = = = = — |EExiE (E8)
w|gl10| V23 T-NT 5> o 54.0 (F3H) (=) :F#g .
ROy IATSTINEIL B xHIFT =Eizse
® 1—F—@EBIERL
13l=3F= 4,6,8,1,9,2,7,5,3
23— — 4,6,8,1,9,2,7,3,5
== 4,6,8,1,9,2,7,3,5
43—+ — 4,8,6,1,9,2,7,3,5
[ N5
B 4 100 714K 4-9 240M e E 4-8 320 JEE 2-4-9 550M
B B 4 100M 2-4 290M B = 4-9 290M JEE 4-9-2 1,290M
9 2104 2-9 340/ B H 4-9 380
2 1809

ABICOVWTRDTEEERROODE. TR LIV,




